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1.	 x 3 y	 = ñx(y + 1) + ñy(x + 1)
8 3 18	 = ñ8(18 + 1) + ñ18(8 + 1)
	 = 2ñ2.19 + 3ñ2.9
	 = 38ñ2 + 27ñ2
	 = 65ñ2  olur.

Cevap: C

2.	 a b a b
a b7

3 = -
+    ⇒   11 3

7
3  = 11 3

11 3
-
+

	 11 3
7
3 	= 8

14

	 14(11 3 3)	= 7.8
	 11 3 3	= 4  olur.

Cevap: E

3.	 •	 ñm = 3	 ⇒	 m = 9
•	 3n = 243	 ⇒	 n = 5
⇒	 ñm ★ 3n = m2 – 2mn + n2 = (m – n)2

	 3 ★ 243 = (9 – 5)2 = 16 olur.
Cevap: C

4.	 •	 a 1
1
+  = 2	 ⇒	 2a + 2	 = 1

				   2a	 = –1

				   a	 = 2
1-

•	 b 2
1
-  = 3	 ⇒	 3b – 6	 = 1

				   3b	 = 7

				   b	 = 3
7

⇒	 2 Y 3 = 4. 2
1-` j – 3. 3

7  + 2

	 = –2 –7 + 2
	 = –7  olur.

Cevap: A

5.	 (x + 3) x (y – 2) = x + 2y
	[	 [
	 a	 5

⇒  x = a – 3   ve   y = 7   yazılır.

O halde	 a x 5 = a – 3 + 2.7	 = 25
	 a + 11	 = 25
	 a	 = 14  olur.

Cevap: C

6.	 (3a + 2b) 3 (2a + 3b) = (a + b)2 = 22 = 4	 	
	 4	 6

	 3a + 2b	 = 4
+	 2a + 3b	 = 6    
	 5(a + b)	 = 10   ⇒   a + b = 2

Cevap: B

7.	 5
24

5
3

4
1

X X
- -` j

5
24

4
1
5
3

X
-

-f p

.5
24

5
12

5
24
5
12

5
12

24
5

2
1

X
- -

= -

-

=
-

- =   olur.

Cevap: D

8.	 4
1

2
1

4
3

x x` j	= 4
1

2
1

4
3 1x + -` j

	 = 1 4
1

4 x

	 = 4
1

4
1

+

	 = 4
2

2
1

=   olur.

Cevap: A
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9.	 x 
x 

 = 
. …

. …

x x x
x x x

x
x

x
x

1 1 1 1
1

2 5
2 5

15
15

30
30= = = -

Cevap: D

10.	 m n m n13
2

20 23 + = -

m = 13   ve   n = 3   için   .13
13

3 2
20 13 2 33 + = -

1 3 4 = 7  olur.
Cevap: B 

11.	 	 3 n  + 2	 = n+1 – 4  + 7

	3(2n – 1) + 2	 = (2(n + 1) – 1) – 4  = 7

	 6n – 3 + 2	 = 2n – 3  + 7

	 6n – 1	 = 2(2n – 3) – 1 + 7
	 6n – 1	 = 4n
	 2n	 = 1
	 n	 = 2

1

Cevap: D

12.	 9 ★ 2 = 110000000 = 11.107

3 ★ 0 = 3000 = 3.103

3 ★ 1 = 400 = 4.102

⇒ 11.107.3.103.4.102 = 132.1012 → 15 basamaklıdır.
Cevap: C


